Number of Students transitioning out of a school due to the attendance area changes.

Area on Map: 1 2 3 4 5 6 7 8
# of K-3 # of K-3 # of K-3 # of K-3 # of K-3 # of K-3 # of K-3 # of K-3
Students Students Students Students Students Students Students Students
currently currently currently currently currently currently currently currently
school residing in residing in residing in residing in residing in residing in residing in residing in N
Bubb Area |Huff Area that|Huff Area that| Landels Area | Landels Area | Monta Loma | Monta Loma | Theuerkauf
that will [ will transition| will transition|  that will that will  [Area that will | Area that will | Area that will I
transition to to Bubb to Slater | transition to | transition to | transition to | transition to | transition to Y
Landels Slater Theuerkauf Castro Theuerkauf Slater
Bubb 76 2 1 7 2 0 0 0
Castro 11 0 0 1 4 0 0
Huff 2 7 88 2 0 0 0 0
Landels 6 0 9 82 24 4 3 6
Monta Loma 1 0 5 1 1 13 21 6 )
Slater 0 0 0 0
Theuerkauf 4 0 13 6 4 1 1 33 3 a
Mistral 20 1 9 11 2 10 4 k:‘;“ ‘
Stevenson 13 2 16 34 6 3 7 6 f /]
Totals: 127 10 141 143 36 31 31 55 2 TS
Area on Map: 1 2 3 4 5 6 7 8
# of Grade 3 | # of Grade 3 | # of Grade 3 | # of Grade 3 | # of Grade 3 | # of Grade 3 | # of Grade | # of Grade 3
Students Students Students Students Students Students 3Students Students
currently currently currently currently currently currently currently currently
school residing in residing in residing in residing in residing in residing in residing in residing in
Bubb Area |Huff Area that|Huff Area that| Landels Area | Landels Area | Monta Loma [ Monta Loma | Theuerkauf
that will will transition| will transition|  that will that will | Area that will [ Area that will | Area that will
transition to to Bubb to Slater transition to | transition to | transition to [ transition to [ transition to
Landels Slater Theuerkauf Castro Theuerkauf Slater
Bubb 19 1 0 0 1 0 0 0
Castro 1 0 0 0 1 1 0 0
Huff 1 3 19 1 0 0 0 0
Landels 0 0 1 12 4 2 1 3
Monta Loma 0 0 1 0 1 3 3 1
Slater 0 0 0 0 0 0 0 0
Theuerkauf 1 0 4 1 2 1 1 5
Mistral 5 0 3 0 0 3 0 0
Stevenson 1 0 3 9 0 0 1 4
Totals: 28 3 31 23 7 9 5 13




